
7D Algebraic Proof 

 

 

 

 

 

 

 

 

 

 

 

 

1. Prove that: 

(3𝑥 + 2)(𝑥 − 5)(𝑥 + 7) ≡ 3𝑥3 + 8𝑥2 − 101𝑥 − 70 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



2. Prove that if (𝑥 − 𝑝) is a factor of 𝑓(𝑥) then 𝑓(𝑝) = 0 

 

 

 

 

 

 

 

 

 

 

 

 

 

3. Prove that 𝐴(1,1), 𝐵(3,3) and 𝐶(4,2) are the vertices of a right-angled triangle.  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



4. The equation 𝑘𝑥2 + 3𝑘𝑥 + 2 = 0, where k is a constant, has no real roots. Prove that k 

satisfies the inequality 0 ≤ 𝑘 <
8

9
. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 


